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Exercise

1. Number of p electrons in bromine atom are:

A. 12

B. 15

C. 7

D. 17

Answer:

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ea7eAr7X7hR0


Watch Video Solution

2. Which of the foIloAving having maximum electron affinity?

A. 

B. O

C. 

D. 

Answer:

Watch Video Solution

F
−

O
−

Na
+

3. For which compound both covalent and ionic bonds are present?

A. 

B. 

C. 

CCl4

CaCI2

NH4Cl

https://dl.doubtnut.com/l/_Ea7eAr7X7hR0
https://dl.doubtnut.com/l/_UelMbqqqikgn
https://dl.doubtnut.com/l/_dlM10IheFReo


D. 

Answer:

Watch Video Solution

H2O

4. When the hydride of basic metal, reacts with water, it gives .

A. acid solution

B. basic solution

C. neutral solution

D. hybride ion

Answer:

Watch Video Solution

5. The strong base is:

https://dl.doubtnut.com/l/_dlM10IheFReo
https://dl.doubtnut.com/l/_5x6yxKp4FZlo
https://dl.doubtnut.com/l/_MyIqy8RD0e4T


A. LiOH

B. NaOH

C. KOH

D. CsOH

Answer:

Watch Video Solution

6. How many- helium atoms are present in 52u of Helium?

Watch Video Solution

7. Arrange the following in order of increasing dipole,moment

.

Watch Video Solution

NH3, NF3, CBr4

https://dl.doubtnut.com/l/_MyIqy8RD0e4T
https://dl.doubtnut.com/l/_LkiAUCtnTEDd
https://dl.doubtnut.com/l/_m6sjDs0jIyPv
https://dl.doubtnut.com/l/_ufaJ214o0r9e


8. Determine the oxidation of Fe in .

Watch Video Solution

K4[Fe(CN)6]

9. Write down the formula of hydrolith.

Watch Video Solution

10. Balance the equation in ion electronic method,

Watch Video Solution

K2Cr2O7 + FeSO4 + H2SO4 → K2SO4 + Cr2(SO4)3 + Fe2(SO4)3 + H2

11. Draw the structure of  molecule.

Watch Video Solution

H2O2

12. Describe the nature of the curve of ‘log P vs log V'.

https://dl.doubtnut.com/l/_ufaJ214o0r9e
https://dl.doubtnut.com/l/_WTb9YLATMNL7
https://dl.doubtnut.com/l/_eKiIJjBrabgt
https://dl.doubtnut.com/l/_LrLqcSzRmYuw
https://dl.doubtnut.com/l/_o8MgxRd7SaBG


Watch Video Solution

13. Since oxygen and sulphur are belong in same group, but  is liquid

but  is gas, describe.

Watch Video Solution

H2O

H2S

14. Between Berilium and Boron which have higher ionisation enthalpy?

Watch Video Solution

15. In 0.09 gm of `H_2O, how many hydrogen and oxygen atoms are

present?

Watch Video Solution

https://dl.doubtnut.com/l/_o8MgxRd7SaBG
https://dl.doubtnut.com/l/_dIKdhYlOfD43
https://dl.doubtnut.com/l/_a5SFEhsv3BP8
https://dl.doubtnut.com/l/_ppfpPgGOlawy


16. State Hund’s multiplicity Rule and explain it. Give electronic

configuration of sulphide ion.

Watch Video Solution

17. Eelctroncgativity of fluorine is greater than chlorine, but electron

affinity is higher in chlorine that fluorine— explain.Why 2nd ionisation

potential is always greater than 1st ionisation potential?

Watch Video Solution

18. Bond angel of  is greater than — Explain.Explain, ammonia is

more basic than phosphin.

Watch Video Solution

H2O H2S

https://dl.doubtnut.com/l/_BtBcKGnVn01N
https://dl.doubtnut.com/l/_QDRzVEfGOL8A
https://dl.doubtnut.com/l/_X9gIdIOqIGZl


19. How will you prepare watergas from coke, give equation.Write two

names of the compound which cause parmenent hardness of water.

Watch Video Solution

20. From a mixture of acetylene, ethelene, methene gas, how will' you

separate these three gas mixture?

Watch Video Solution

21. Why methene does not prepared from ‘Wurtz Reaction’?Convert :

.

Watch Video Solution

CH3 − CH3 → CH2 = CH2

22. Why methene does not prepared from ‘Wurtz Reaction’?Convert :

.CH3 − CH2 − OH → CH2 = CH2

https://dl.doubtnut.com/l/_DRdIJxTCEato
https://dl.doubtnut.com/l/_L5bTnn5YuTVB
https://dl.doubtnut.com/l/_4Vo2EtKkLQcM
https://dl.doubtnut.com/l/_CIz9t1nMJIxc


Watch Video Solution

23. Identify A, B, C, D.

Watch Video Solution

CH2 = CH2

O3

−−→ A
Zn / H2O

−−−−→ B
K2Cr2O7

−−−−−−−−−−→
+ concH2SO4

C −−−−→
LiAIH4

D

24. Identify E, F.

Watch Video Solution

CH3 − CH2 − CH = CH2

HBr

−−→ E
KOH / alcohol

−−−−−−−−−→
Δ

F

25. Why nitrobenzene is used as a solvent in Friedel Craft Reaction?

Watch Video Solution

26. Determine the volume strength of the 1.5  solution.

Watch Video Solution

(N)H2O2

https://dl.doubtnut.com/l/_CIz9t1nMJIxc
https://dl.doubtnut.com/l/_3tC2GJtYZEim
https://dl.doubtnut.com/l/_T6breSTChSdU
https://dl.doubtnut.com/l/_RpmCDzyd97L3
https://dl.doubtnut.com/l/_kVJucrYMfKl3


27. Hardness, which is related' with Mg-ions, does not completely removed

by only boiling— explain.

Watch Video Solution

28. Why sugar is soluble in water?

Watch Video Solution

https://dl.doubtnut.com/l/_kVJucrYMfKl3
https://dl.doubtnut.com/l/_kRbyWfGy4GGx
https://dl.doubtnut.com/l/_tvxH1mVeI7Rv

